LA >4 (IR + F £4%t0)

K5lER HEmt w58 By ’575%E SRR | BMU #5H
1 reyFtIL 40 mg/m?2 FURDEST 1 s |18H8
2 TADI> 80 mg/m?2 PIAR 1~14HH

13— XHART : 21H[-

L=>X>—FK:10014




Lox v (Feaxen(3BE))

&5IERF

Em#

w58 Bi{7

’E5TE

585

B

#5H

1

reyFtIL

60 mg/m2

sUREEST

1

iSdE]

188

13— XHART : 21H[-

L=X>— K 10025




L x4 (SP)

&5EF EmB 5= ==Ly} ’R55% e S HER 1==Fiy) %5H
1 ITRO> 80 mg/m?2 MIAR 1~21HHBE
2 SATSF> 60 mg/m?2 AUEEST 2 B |8HAB

11— HAR : 35

L=X>—FK:10028




Lox vz (W)Y (FE))

&5IERF

Em#

w58 Bi{7

’E5TE

585

B

#5H

1

INOVEFEIL

80 mg/m2

sUREEST

1

iSdE]

1, 8, 15HH

13— XHART : 28HIM]

L=X>3—FK: 10097




LoxX 2 (77 7%y (3BHE))

&5IERF

Em#

w58 Bi{7

’E5TE

585

B

#5H

1

7ISFT>

260 mg/m2

sUREEST

30

188

13— XHART : 21H[-

L>X>0— k10122




LT x4 (NAC SP)

&5EF EmB 5= ==Ly} ’R55% e S HER 1==Fiy) %5H
1 ITRO> 80 mg/m?2 MIAR 1~21HHBE
2 SATSF> 60 mg/m?2 AUEEST 2 B |8HAB

11— HARY :

28HM

L=>X>0— k10127




Lo X v (19707 (fRR))

&5IERF

Em#

w58 Bi{7

’E5TE

5B

B

#5H

1

A )TH>

150 mg/m2

sUREEST

90

188

13— XHART : 148

L=X>3—FK:10130




L x4 (SOX)

E5ER FEat ’52 BAfi] &5 75E SSEERT | B %5 H
1 AFHUTSF> 100 mg/m?2 rURESESY 2 R [1EH8
2 TARAI> 80 mg/m2 AR 1~14HH

13— XHART : 21H[-

L=X>— K 10135




L2 X >4 (CapeOX)

E5ER FEat ’52 BAfi] &5 75E SSEERT | B %5 H
1 AFHUTSF> 130 mg/m?2 rURESESY 2 R [1EH8
2 IRSFE> 2000 mg/m2 MIAR 1~14HH

13— XHART : 21H[-

L=X>—FK:10138




Loxrg (7 Y -+ (2:8%))

&5IERF

Em#

w58 Bi{7

’E5TE

5B

B

#5H

1

ATS—R

240 mg/m2

sUREEST

30

188

13— XHART : 148

L>X>0—FK:10141




LoX v (17 Y -F (LBF))

&5IERF

Em#

w58 Bi{7

’E5TE

585

B

#5H

1

ATS—R

480 mg/m2

sUREEST

30

188

13— XHART : 28HIM]

L>X>0—FK:10141




LoX v (77 7%y (858))

&5IERF

Em#

w58 Bi{7

’E5TE

585

B

#5H

1

IOAPEDY,

100 mg/m2

sUREEST

30

1, 8, 15HH

13— XHART : 28HIM]

L=X>— K 110143




Lo X % (708 +77 7%4Y)

&5IEF o ’5= Bif] &55%E K5/ | B %5H
1 A4S LY 8 mg/kg U ST 1 BRI |1, 1588
2 7ISFH> 100 mg/m?2 sUBEST 30 ¥a) 1, 8, 15HH

13— XHART : 28HIM]

L>X>0—FK:10144




L X >4 (IRIS)

&5EF A 5= ==Ly} ’R55% ¥ SE5R 1==Fiy) %5H
1 AU I)FHh> 80 mg/m?2 sUREESY 90 va) 1HB
2 ITRO> 80 mg/m?2 MIAR 1~21HHBE

13— XHARI : 358/

L>A>0—F1:10145




Lo X2 (Tvn-Y)

&5IERF

Em#

w58 Bi{7

’E5TE

585

B

#5H

1

I2)\=Y

6.4 mg/kg

sUREEST

90—30

188

13— XHART : 21H[-

L>X>0—FK: 10154




Lo X% (17 Y -F +CapeOX)

&5IERF FEm ’52 ==Fv) ’55E X585 BH ] ’%5H
1 A2°5° " 360 mg/body sUEEST 30 7 D1
2 A7° 3% 130 mg/m?2 sUREST 2 BfEl (D1
3 AN SBE™ Y 2000 mg/m?2 AR D1-D14

11— HARY :

218M

L=X>—FK:10149




Lo X2 (17 Y -K +S0X)

&5IERF FEm ’52 ==Fv) ’55E X585 BH ] ’%5H
1 A2°5° " 360 mg/body sUEEST 30 7 D1
2 A7° 3% 100 mg/m?2 sUREST 2 BfEl (D1
3 S-1 80 mg/m?2 MIAR D1-D14

11— HARY :

218M

L=X>0— k10146




